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Plot the total impedance of the circuit as a function of frequency

N =5 Plot the values to 100 kHz

1:=60 Thisis the_number of points that are generated in each decade |
k = 140..# N This is the index for the frequency variable.

-1 Generate the points
k-— o |
f = 10 ' Define the filter values and compute the impedances as a
: function of frequency ’

Ry, =600R 5:=314 | R7:=440 Rg = 565

Ljs:= 100-10_3L73=L5 Lg:==Lj : . , w

~ Cs 00025105 = 0.0013- 105 = 7831072

. I Fifth harmonic
Z =R 2w fL ¢ _ ) . T
5(H) w5 T el +2.Tc.f.(j5.j filter impedance
CaTT ] Seventh harmonic
CZa(f) =Rp+ 2mEL g 4 ——— even onic.
7(5) 7+¢ T +2.ﬁ.f.c7:-j filter impedance
1,.

Zg(f) = R9 - 2L 9j t—— Ninth hafmonic
, 2nfCoj filter impedance
Zy =Ry Load resistance _ |
Total impedance of the network
including the_ foad resistance
1 _ -
1 1 1 1

Zs(® Z18 Zol) Zy

Z(f) =

- Plot the magnitude and phase angle of the total impedance as the
frequency changes from 1 Hz to 100 kHz



frequency changes from 1 Hz to 100 kHz

Impedance plot for the filter circuit notice that the individual filters
interact and reduce the impedance at frequencies beyond the
resonance frequency.
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Find the total cukren_t as a function of frequency h
Ve=707+0 Yp(f) =- 4 + +,
R PTG R TR O )

; I S(f) =V sYT(ﬂ The squrce.t:_urr_eht as a function of f
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